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ISR(Interrupt Service Routine)
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» SREG : Status Register

Bt 7 & 5 4 3 2 1 0
7 | W [ s [ v [ N | z | c |sReG
ReadWrite AW AW AW AW RV AW AW R

Imitiad Wakie 0 0 0 i 0 0 i 0

= Bit 7 : | (Global Interrupt Enable)
« QIHEE 7|52 AM89}7| {I3ll SREGL| 7 HIEE 1= 78| OfF &
= SREG2| 7&# H[EZ}00|H OffH QIHEHE T ALY == GlA &
» QIE{HE Y 5 5EQ0{= SREGS| 7H H{[EE 02 HHY & — 0of™
CHEEES NC|dt= & L2 AHEES HA| L= 9|0
» QIEHEE N2| £ =9 0= SREGR| 7H HIEE CHA| 12 HIHY & -

CIHEES CfA| 20t =& 2|0
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EIMSK : External Interrupt Mask Register

Bat 7 i} & 4 4 2 1 0

|_INT7 | INTE | INTS | INT4 | INT3 | INT2 | INTi | INTO | EIMSK
ReadWrile W AW W AW W AW W W
Initial Value 0 0 0 0 0 0 0 0

= Bits 7~0 : INT7~INTO (External Interrupt Request Enable)
 SREG2| 7R H|EE 12 &80t LM W2 XN QHEBEES ArE05}7|
2ol EIMSKO| A SliE HIES 12 2733l OF &
 Of: QI EE 65 ArEot2{H C=ar 20| 2835 OF &
SREG |= ; // Global Interrupt Enable
EIMSK |= ; // INT6 Enable
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* EIFR : External Interrupt Flag Register

Bat T [i] ] 4 | 2 1 0
IR I B L L B G G

Read®Vrite R R A AW AW AW AW AW

Iritial &b 1] 1] 1] 1] 1] 0 0 0

» Bits 7~0 : INTF7~INTFO (External Interrupt Flags)
» SREG2| 781 H{ERIEIMSKO]| 7)fE QHEBES &8¢ 2 did QHE
E7I & dotH EIFRL| dli|F CIHEHE flage 12 =
= ST ISR AYO| 2ZE|H EIFRL| ST QIHHE flage 02 =

« P EIFRC OIE BE flagS +5X 02 F2|ofotai B of T B 0] 1
£ W 2of of 3t
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= EICRA : External Interrupt Control Register A

B ) 1] & 4 4 2 1 ]
= I I I = Y

Read"Write A AW AW R R AW AW AW

Initial ahue ] ] ] 0 ] ] ] ]

= Bits 7~0 : ISC31~ISCO00 (External Interrupt 3~0 Sense Control)

. SREGOI 7H HEQIEIMSKO| 72 CIHEHEZS Adot 2 offS QIH
E 9| trigger Al S AN

ISCnl | ISCnO QIE{H E trigger Al
0 0 INTn £ 2| low 2|'# A= O | Sl Q1B E E trigger
0 1 reserved
1 0 INTn & 9| 3}ZH0f| X|(falling edge)dl A C1E{E E trigger
1 1 INTn Bl 2| 2&50{|X|(rising edge)0ll Al Q1E{ & E trigger
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» EICRB : External Interrupt Control Register B

Ba 7 [i] B 4 i | 2 i 1]

i Ci1_] _tece0 | scet | iscs | sca | scw ] Ecns
ReadWWrile AW R AW RW AW RW AW RW
Initial Valua 1] 1] 1] 1] 1] 1] 1] 1]

= Bits 7~0 : ISC71~I1SC40 (External Interrupt 7~4 Sense Control)

. SREGOI 7H HEQIEIMSKO| 72 CIHEHEZS Adot 2 offS QIH
E 9| trigger Al S AN

ISCn1 | ISCnO QE{HE trigger &
0 0 INTn Z2| low | M= A 2|8 21 & E trigger
oo Hotof sl OIE & E trigger

0 1 INTn T 2| =2[F
1 0 INTn 2| SFZH0f| X| (falling edge) Ml Al 1 E{ & E trigger
1 1 INTn & 2| 25 0f X|(rising edge) 0| A 2IE{ & E trigger
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& LCD1
LMO16L
U1
RESET PDO/SCLINTO %
PD1/SDAINT1 |22
XTAL1 PD2RXDINT2 |-2L
XTAL2 PD3MXDIINTS |22
pD4ncet |22
PAD/ADO PDSIXCK1 [—37
PAVAD1 PDEIT1 [
PADIAD2 PD7T2 |—22
PA3/AD3 5
PA4/AD4 PEV/RXDOPDI -2
PAS/ADS PE1/TXDO/PDO [
PAB/ADS PE2/XCKO/AIND |~
PATIADT PE3/0C3AAINT |2
. PE4/OC3BINT4 [—2
PBOSE PES/OC3C/INTS |
PB1/SCK PEGT3/INTG [ —L
PB2MOSI PETICP/INTT & T
PE3MISO o
PB4/0CD PFO/ADCO |21
PBSI0C1A PF1/ADC1 |20
PBE/OCIE PF2IADC2 |22
PBT/0C2/0CIC PF3/ADC3 |—22
PFAIADCA/TCK (2L
PCO/AB PFS/ADCS/TMS [—22
PC1/A9 PFBIADCA/TDO |22
PC2/A10 PF7/ADCT/TDI
PC3/AT1 -
PC4/A12 PCOMIR (22
PC5/A13 PG1/RD [ e —e g —e
PCEIA14 peaALE 43 o0 o [0 o o o P
PCTIA15 PG3TOSC2 [—o
PG4TOSCT —2
AREF - m
AVCC PEN |-
ATMEGA123
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» TEEQYH RE M DDRE = 0x00 A
= ZE Epullup @8 : PORTE = Oxff de Te
= LCD X O

« IEFZY ZE 47 DDRF = Oxff
- QIE{HE MF
» Global interrupt enable: SREG |= 0x80

= INT7~INT4 AL : EIMSK = 0xf0
= SIAO|X| trigger &7 : EICRB = Oxaa
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s AAN OC

int main(void) {
char msg[20];

DDRF = 0Oxff;
DDRE 0x00;
PORTE = 0Oxff;

#include <xc.h>

#include <avr/io.h>
#include <util/delay.h>
#include <avr/interrupt.h>
#include "lcd4.h"

#include "stdio.h"

SREG |= 0x80;
EIMSK O0xf0;
EICRB = Oxaa;

init lcd4();

volatile unsigned char interruptNo = 0O; writeString ledd (0, 0, "Interrupt No: ");

ISR(INT4 vect) interruptNo =

ISR (INTS t) C t tNo = éf i while (1) {
ISR(INT6_VeCt) { }nterruptNo _ 6f } if (interruptNo) {

_vec { :!-n errup o = ’ Sprintf(msg, nod checked", interruptNo);
ISR(INT7 vect) { interruptNo = 7; }

interruptNo = 0;
writeString lcd4 (0, 1, msg);
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PB2MOSI PETICP/INTT & T
PE3MISO o
PB4/0CD PFO/ADCO |21
PBSI0C1A PF1/ADC1 |20
PBE/OCIE PF2IADC2 |22
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« ZTEE QY ZE 47 DDRE = 0x00
= ZE Epullup 28 : PORTE = Oxff
= LCD MO

» XEFE3 2 47 DDRF = Oxff
. OIE|E MXA
= |SRE AESHX| 0LA] global interrupt enable(SREG |= 0x80)= ¢F &t

= INT7~INT4 AL : EIMSK = 0xf0
= SIAO|X| trigger &7 : EICRB = Oxaa
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s AAN OC

<xc.h>

<avr/io.h>
<util/delay.h>
<avr/interrupt.h>
"lcd4.h"
"stdio.h"

#include
#include
#include
#include
#include
#include

int main(void) {
unsigned char
char msg[20];

interruptNo

DDRF = 0Oxff;
DDRE = 0x00;
PORTE = Oxff;
EIMSK 0xf0;
EICRB = Oxaa;

O

=
=

init 1cd4();

writeString lcd4 (0,

while (1) {
interruptNo =
if (interruptNo)

0, "Interrupt

ETFR;

{

switch (interruptNo) {
interruptNo =

0x10:
0x20:
0x40:
0x80:

case
case
case
case

}
sprintf (msg,

interruptNo
interruptNo

interruptNo =

"$d checked",

interruptNo = 0;

writeString lcd4 (0,

No: ");

4; EIFR |= 0x10; break;
5; EIFR |= 0x20; break;
6; EIFR |= 0x40; break;
7; EIFR |= 0x80; break;
interruptNo) ;

1, msg);
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